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1.

A survey shows that 41%, 35% and 60% of the people watch “Star Plus,” Sony T.V"

and “Zee T.V” respectively. 27% people watch exactly two of the three channels and

3% watch none. What percentage of people watch all the three channels?

(A) 40% (B) 6% (C) 9% (D) None of these

If o and {3 are the roots of the equation x* — px + g = 0, then the quadratic equation,
the roots of which are (o? — [}?)(0® — °) and (*p? + o*f’) is
(A) px*— (5p + Tq)x — (p°q® + 4p?qP) = O

(B) x”—(p°—5p’q + 5pgP)x + (p°q? — SpigP+ 4p?gh) = 0

(C) X%~ (p3q = 5,0'3 P p“q}x - (pﬂq:d = 5p}:qh) = ()

(D) All of these

ABCD is a rectangle of dimensions 6 cm % 8 cm. DE and BF are the perpendiculars

drawn on the diagonal of the rectangle. What is the ratio of the shaded to that of

unshaded region 7?7
D

Assume that a mango and its seed, both are spherical in shape. Now if the radius of

(D) Data insufficient

2
seed is — of the thickness of the pulp and the seed lies exactly at the centre of the

5
fruit, what percent of the total volume of the mango is its pulp?
(A) 63?’5—% (B) 97.67% (C) 68?% (D) None of these
cos? x sin® x cos” v sin® y
If - . =1,then ———+— 5 isequalto
coszy sinzy cos“ x sIn” X
(A) —1 (B) 1 (€) o (D) 2
Which of the following expressions is true?
(MY 2+ 3)> 1+ 4 (B) 6+2/>3+3
([©)F5+ 825+ T (D) None of these

LOGICAL AND ANALYTICAL REASONING

If “+’ implies ‘=", ‘x’ implies ‘<’ ‘4’ implies >’, ‘=’ implies <, >’ implies ‘+’, ‘<’ implies
‘4 ‘=’ implies ‘~’, which of the following expressions is correct ?
(A)1—-3:>2+1—-5=3—'1-r:2 (Bl =322#1x65=3%x1>2

(C) 1% 322+ 1x5x3~1>2 (D=3 >2+1%x5+3—~1>2



. ;'_.-, ' his ) nd sells half his eggs and haif ap eqq.
 egg vendor calls on t he was left with and half an e
a *l ' agﬁsﬂnﬂ customer, he sells half of whﬂ s then left with and haif =y
2ta Irdl customer, he sells half of what he wa d left AT an egq,
h@ did not b:'eak any €99- If in the end, the vendor was left with three eggs.
itially 7

I e have ini _
; 3 u *. arw eggs did I:B) 31 (C) 39 (D) None of thESe
) ' a7 ﬁ_;_. Y e
:Ei-.frﬁ-:'fn "43’7” rrange the following items from general to partictia
e, l - Animal 2. Feline 3. Leopard 4. Mammal
: “3' ~ Vertebrate |
-“f * B a2 (D) 1,54,2.3

| %n fife a6 (B] 1.3
."1 '_“ -
14. In the following series, the number o

*are in ascending order, i.e., 1, 2 3, 4. Whic

f letters skipped in between the adjacent lette,
h one of the following letter groups doeg

ne h‘”",_, ay ”ﬁhis rule?
( - LS (B) DFIMR (C) GILPU (D) HJIMPT
=18, 6 = 39, then 10 = 7
(B) 81 (C) 100 (D) 105

Wem table and choose the option which can best replace the sign of

1121 3] 2]10]12
5| 5 (12|10 16|13
4l 21| 2|10 24

‘-:.'-'5'_1. -.:gﬂg_- (B 11 . (C) 13 (D) 8

”fi B,“c lB and E are to be staged from Monday to Friday of a week.
day, o i'_'-Iy one play will be staged. D or E should not be either the first

n eg r ‘-L |
r last to | fﬁﬁ agad E should be immediately followed by C. B should be staged
= | l'rﬂ'm .ne play is staged between A and B. Which is the first play

’ﬂ;.i =(E) B (C) C (D) None of these
;&-:‘i"T mon gi: the following options best replace the sign of interrogation
"""" J.a | blem figures is continued?

o Prahlem Figures

+ ~|= NJjA A
E ? B 4N
=[BT BB @
'~ -
(G2« (D) ? ?
- 'ﬁ. Il A
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mt (0 only (0 (1) and (1D only
"w A (V) anly (Y () (0, (D and (iv)

_Ii ' h A man n a photograph, o woman sald, "His brother's father s the only
1 1Y arandrather” How (s the woman related to the man (n the photograph ?
\ . i (1) Aunt (L) Hiata (Y Daughte
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COMP UTERS AND INFORMATION TECHNOLOGY

oo
_—

I: Jr‘ﬁr

"_-;;.q_-r:-ra !mlhﬂ launched first commercially avallable phone to run on Android O%

| Jz bh
A\ @ i‘"'?" " - \
(A} Sameung (1) Nokla (L) Micromax () MG

A H command (n MSWaord 2007 is nvoked by Koy

B B B R

mlmm'ld'fﬂuah. Microsoft PixelSense, Elan efinger are some of the first

ul
l

o I;. 0 Bupport technology

Mult I". QH (1) Single-touch (C)  Doubledouch (D) None of these

ﬁa e I‘Whllh runs on one machine but produces the machine code for another

Sompller (1) Emulator
u aspembler () Simulator

I of the following (s a valld floating constant in G ?
g0 ~ (B) O.7TERQ () 1620808 (D) Q8E-7

R L e f‘: L f F‘_"“- -I
11 ;
d l. . 4 Lt

(C) PDP - 11 (1) UNIVAC - |




(B) 2 (€ 4 e
Ic invented by __
Gimilﬁ( e (B) Jack Kilby

(D) Thomas Watson

l ’“ W remote access to @ targeted computer system. Which of the
oot ; is performed by a hacker on 2 target computer system?
¥ 2. Keystroke logging

| shing the computer
ownloading or uploading of files 4. Crashing p

(B) Only 2, 3 and 4
(D) All1,2,3,4and5

......

(B) Text Characters
(D) Number Characters

e f 13 HOT a valid C++ variable name?
er e (B) _1ldentifierPointer

tifierPointer! ,q;,, o) (D) identifier1_pointer
SAF -u- "L‘-_—'J : o
P ,}I_

S e ,--'.-';'- ! 1
the output of the following HTML code?

2N ™ !
My -' J
ST =
AX :J.,-__
, stroance

. -rl

strongly emphasized </strong>
ongly
Bl

.
"
[

e
)
J
& S T T
, -
|y
.

S T s & ==
.1:1.'.-'!‘:.%' - =
Fe b1 Vd =10

(B) this text is strongly emphasized
(D) This text is strongly emphasized
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i of computer’s key-features are described below?

Jse of Magnetic tapes and disks

re memory developed

| st Operating systems developed

| _,: gramming in machine as well as assembly language

: G:neratmn Computers (B) Second Generation Computers
d Generation Computers (D) Fourth Generation Computers

"setin C++ is

Symbols on the keyboard
nl Text on the keyboard
Numbers on the keyboard

' f-l’""' ext, numbers and symbols on the keyboard

5:5"._‘.:"-
L L _|_-__I
ﬂmﬂ@ i

(B) 38500 (C) 7585 (D) 8755

hicl “lhe following communication media will you suggest to be procured by a
mn.l?.fcting all its local branches in Delhi for a very effective and high
Sp _ nmunication?

) Telephone Cables (B) Ethernet Cables

Cables (D) Fiber Optic Cables

| > following is NOT an advantage of networking?
;‘-::_-_.".5":4_: .ﬁ'_'_'_.' rces like printers, scanners and software
)ependence on a central server for all work

ok T Sl -
-;gnmmuniﬂatians and messaging
t are attached to a network, seeking to share resources of the network

@lhd workstations or
(B) Transmitters (C) Routers (D) Nodes

, the number of processes completed per unit time is known

(C) Efficiency (D) Capacity

(B) Non-Preemptive Scheduling
(D) None of these

correct operator to compare two variables?
— (D)




| . 8801 directive?
JL; fﬁﬂftﬁi following Is a pre pr(a:; oo e <iostream >

(A) i_-.r n!‘I | iﬂhwrf "d name = 'W{'.)ﬂdﬂfﬁi’ f.';.rﬂhf;ﬁi’__
\ I i '1. '|I|ﬂ W‘E 9@
1.,nr m IWIM information to answer the question.

tis ¢ .rh Ilm soclal networking website.

14 sed 'tn Mn Francisco, US. 1 8t 4

itn fois illiams and Biz Stone,
Iﬁﬁaw ll"l Jack Dorsey, Noah Glass, Evan W

Identify the w vabslte. i
(A) ” (B) Linkedin (C) Twitter (D)
'-"-1:-' |I|

L r1 ﬁpﬂlﬁgy shown in this figure is called ____-

(D) myschool.

A & ] .
v ';_g.g_"“_) Mesh topology (C) Ring topology (D) Graph topology

est precedence in C++ 7
(B) Post increment (++)
%p (D) Logical OR (1)

W C++ reserved word is NOT an access specifier?
(B) prrwate (C) protected (D) virtual

m}di;‘_ ’ of MS-Word 2007 has set in the following Text 7
| ?51*-'{.& ""i'ﬁ?ﬂlﬁinﬂ'uﬁ Popularising Computer, Science, Mathematics anc English

e MIfﬂﬁmﬁLn’ﬂn profit organization established by leading acacemicians

1d medi ‘:“? '--:: =l-~ “with the aim of promoting science, mathematics and computer educz o

| II fatior fﬁsbeenﬁmving forover a decade to promote scientific attifude trro _o°

. ' In leamning process that invelve school students zcross the court™,

(B) _Right Indentation
(D) Hanging Indentation

(t to a dlagmlal angle or vertlcal nrlentation

(D) Bodonz



(D Lef () Right (D) Notton
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